C:h Solving with Parenthesis

Name:
Solve each of the problems. Answers
1) 7x (3 - 1) =
1.
2) (4%x6)+6= 2
3.
3 4+3)-6=
4,
4 (7Tx5)+10= )
5 (46+44)+10= 6.
7.
6) (14-1)-9=
8.
7) (4 + 1) X8 = o
8) (80+10) +8 = 10.
11.
9) (27+3)-3 =
12.
) (32+8) x 2 1
11) (9x3)-12 = 14.
15.
12) (7+6)+3=
13) (14-2)+8 =
14) (9 X 7) x5 =
15) (36-18)+ 6 =
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ﬂh Solving with Parenthesis

Name:

Answer Key

Solve each of the problems.

D 7x@3-1)= 14 7x(2
2) (4x6)+6:i(24)+6
3 4+3)-6=_ 1 (7)-6
4) (7x5)+10=_3r5 (35 +10
) (46+44)+10=_ 9 (90)+ 10
® (14-1)-9= 4 (13)-9
) (4+1)x8= 40 (5)x8
8 (80+10)+8=_16 (8)+8
9 (27+3)-3=__ 6 (9-3
10 (32+8)x2= 8 (4x2
1) 9x3)-12= 15 (27)-12
12) 7+6)+3=_ 16 (13)+3
13) (14-2)+8=_20 (12)+8
14) (9x7)x5:£(63)><5

15 (36-18)+6= 3 (18)=6

10.

11.

12.

13.

14.

15.

Answers
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C:h Solving with Parenthesis

Name:
Solve each of the problems. Answers
16 30 315 3 8
1 16 4 40 6 1
14 9 3715 20 15
2.
) 7x(3-1) =
3.
2 (4%x6)+6=
4,
3) 4+3)-6= 5
4) (7x5)+10= 6.
7.
5 (46+44)+10=
8.
6) (14-1)-9=
9.
7 —

: (4+1)x8= 10.
8) (80+10) +8 = 11.
9 (27+3)-3= 2

13,
10) (32+8) x2=

14,
1) 9%x3)-12=

15.
12) (7+6)+3=
13) (14-2)+8 =
14) (9 X 7) x5 =
15) (36-18)+ 6 =

M odified 1-10 | 9387|8073 |67]|60]53]47[40]33]
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